	Month / Year
	Minimum
Hourly
Wage

	October 1938
	$0.25

	October 1939
	$0.30

	October 1945
	$0.40

	January 1950
	$0.75

	March 1956
	$1.00

	September 1961
	$1.15

	September 1963
	$1.25

	February 1967
	$1.40

	February 1968
	$1.60

	May 1974
	$2.00

	January 1975
	$2.10

	January 1976
	$2.30

	January 1978
	$2.65

	January 1979
	$2.90

	January 1980
	$3.10

	January 1981
	$3.35

	April 1990
	$3.80

	April 1991
	$4.25

	October 1996
	$4.75

	September 1997
	$5.15


Minimum Hourly Wage History:  Is there a pattern?








Name:  _______________________


Goals:  

· Given the data at the right, create a line of best fit (equation) using your Nspire.  

· Use the line of best fit to predict what the minimum wage should be in 2010.

Materials:  

· TI Nspire
Procedure:

· Using the data given and your Nspire, answer the questions below to create the line of best fit.
Answer the following questions:

1. Which piece of data is the independent variable (x)?  Which piece of data is the dependent variable (y)?

2. Is this set of data a function?  Why or why not.

3. Write a linear equation for the data (pick 2 points, find slope, plug point and slope into 
y – y1 = m(x-x1).  Use time = years since 1938.

4. Using your above equation, predict what the minimum wage should be in 2006.  

5. Does this amount seem reasonable?  Why or why not.

Using the Nspire:

1. Go to Home, then #5:  Data and Statistics.

2. Put data into columns A and B.

3. Label column ‘A’ year.
4. Label column ‘B’ wage.

5. Go to HOME: GRAPHS.

6. Define your x and y axes as year and wage. (Click in the box when it asks you to “click to add variable).

5. Find the line of best-fit.  

· From the graph screen, choose MENU, 4:ANALYZE, 6: Regression, 1:  Linear Regression (y = mx + b)

6. Write the equation you saw on your screen:  _________________________________

7.   Is this model a good representation of the data?  Explain how you know.

8. What is the slope of the equation? What does the slope mean?

9.  What is the y-intercept?  Describe what the y-intercept is representing.

10. Using your equation in number 6, make the following predictions:

a. According to this model, what should the minimum wage be for 2010?

b. In what year will the minimum wage be over $6.00?

c. Predict what year the minimum wage will be $7.20.

11. What other factors affect minimum wage other than the year?

